ih\t‘n\‘

Boy, - -
\% Cguéusu LANGUAGE
ilﬁt% Directions (1-5) ¢ In these

ons, sentences with four bold
s are given. One from four

ol
words
siher wrongly spelt or inappropriate
jathe context of the sentence, Find

*leg, qutthe ward which is wrongly spelt
o inappropriate. If any, that word
aten, 4l be your answer. If all words
%y apen in the bold are corvectly spelt
3 Mtg and also appropriate in the context
of the sentence then ‘All Correct

Wempy, SYOUr answer. .

1. Though there is a favourakble
forecast for the monsoon, (1)/

@ crop production (2)/ depends
(3)/ on the distribution )/
of rainfall across the country.
—_— AN correct (D)
et 2, The sudden (1)/ recover (2)/
~——J  of global ofl prices in recent
weecks deaserves [3)/ attention
ary becanse lower (4)/ cil prices
sics - helped tobring down inflation,
sy - All correct (5)
lish 3. India has made great strides
aaply- (/o reducing poverty thanks
ay to ahigh growth rate but there
I still remains (2)/ much (3)/
hiect to be done.(4)/ All correct (5)
4 Everyone recognises that if
Mk - banks do well it will create
!  opportunities (1)/ and jobs
l’, . and henee (2)/ we must focus
A on buildihg competitive B)/
¢i5%  and sucessfull (4}/ banks. All
. correct (5)
yin® 8. Enew (1) schemes aim aten-
couraging the education of girl
@ children ag well as providing
’,ﬁ funding (2)/ to entreprencurs
' and social security (3)/ to all.
@)/ Alt correct (5)

. oy Directions (6-15) ¢ Read the
Aﬂ ollowing pagsage carefully and
. Wswér the questions given below it,
Certain ‘words /phrases have been
Piintdd:in bold to help you locate

given In the bold may he:

- court. But for this one had to really

them while gnsw:
questions, ering some of the
AKbar was the son of hurnble
parents. His father was a school
master. There was never very much
money in the house so he didn't
enjoy any hawuries. All he wanted
was to learn more and more. Books,
were not eastly avaflable then as,
they were handwritten and very
expensive. Akbar read all the hooks
he could lay his hands on. In due
course, he mastered Arabic, Persian,’
Philosophy and Astronomy and
dreamt of getting a position at

excel in some field, Also one needed
a patren close enough te the
Emperor to recommend a
newcomer. it was a few months
before he could find a patron and 2
few more months before he could
find a suitable opportunity to
recommed him to the Emperor who
asked what he had learnt and what
work he could ‘do. On hearing the
same, he sald, *We are pleased to
glve the young man a chance. Let
him take charge of the royal poultry
housel” When he heard the news
Akbar was heartbroken. He, a
scholar, capable of debating with the
most learned men was asked tolook
after chicking henst All the same
he got down to work with great
determination . His only concern
was hens. He saw to it that they
were well fed and had clean water,
that their living quarters were clean
and if a fowl took {il that it was
se from the others and given
proper treatment. Meanwhile, the
Emperor had forgotten about the
scholar he had packed off to mind
the hens. But onc day while his
Finance Minister was reading out
the palace;accounts to tell the
Emperor how much money had
been spent on the raoyal house
hold. he mentioned such a low

“Have moat of the hens died 7
he asked ‘No your Majesty’ was the
reply- “The hens are not only alive
but are plump and fit.” Send for the
achaldrl the Emperor demanded.
When Akbar came to the
palace, the Emperor demanded

"Aren’t yon feeding them propetly ¢"

*1 am sire, only the food is different-
I'm feeding them what cannot be
used in the royal kitchen, vegetable
peels and dough used to seal the
vesgels while cooking for your
Majesty. The hens not only enjoy. it
but it is also very good for them.
“Gobod work, we hereby promote you
tothe rank of royal librarian.” Akbar
was bitterly disappointed. He had
spenttheﬁrstﬂm'tyyem'soflﬂslife
gatning knowledge. How he wished
to gain that knowledge and help

_people, Instead as head of the royal

Yibrary he would be seeing only bools
and no people, But he buckied down
to organissing the Nbrary.
Avyeer later the Emperor came
to visit the library. He was surprised
to find each book coverd with a
packet of silk, velvet or brocade.
There were hundreds of books and
not one without a cover. “you have
used expensive material to cover the
books but have not charged us.
Surely you are not spending your
own money 7" Akbar bowed low,
“Your Majesty these covers did not
cost anything, Everyday dozens of
people.come to the court with
humble grievances on sheets of
paper which are folded and placed
inside a bag of the most expensive
material that they can afford. L have
used them, The emperor was very
pleased and gave him a bigger
responsibility.

8. Which of the following can be

said about Akbar's family ?

A. Theywere poor and unedu-
cated.

figure that the Emperor sat up.

=)

becowming courtiery,

B. They discouraged him from




B s R He was ashamed of them
and did not introduce

them at Court.
(1) None {2) Only A
[8) Band C {4) Only C
(5) All of these

7. Whtch of the following is
TRUE {n the context of the

passage ?

A. Akber was aged when he
was finally made a courter,
B. Akbar excelled at whatever
jab the Emperor assigned

him,

C. The Emperor did not value
a persom's education but

his family background.
(1) All of these
(2} OnlyB (3) Aand B
@BandC (5) Only A

8. How many yeara of Akbar’s life
were spent gaining knowl-

edge?
(1) 50 (2) 20
3) 10 (4} 30

(5) None of these
@, Choose the word which is

OFPOSITE in meaning to the |

word BITTERLY given in bold
as used in the passage
(1) Sweetly {2) Angrily
(3) Sourly {4) Freezing
) Giadly
10, How did Akbar handle his
appofnirment as royal librarian ?
{1) He was angry and was
walting for an opportunity
to tell the king so.
(2) He was thrifled since he
loved books.
{3) He was disappointed but
put his best efforts inio
the job. .
(4) He considered it a good
apportunity to learn mora.
(5) Hewas very happy since he
preferred reading to
nteracting with people.

= 11, How did Akbar manage the
‘" cover for hooks ?

(1) Heused the used-shects of
papers.

(2) He spent his
for this.

(3) He borrowed covers for bo-

.. oks.

(4) He was not aware of it

{5) None of the abové

; the
12. Why did the Emperor send
Akbar when he was In chasge

ultry 7

?:}p;o tt;:t Akbar's knowledge
of poultry.

(2) To sec if Akbar was worthy
of higher responsibility.

{3) To understand why the
poulrty was thriving de-
spite reduced expenditure
on them.

(4) To scold him for feeding
the poultry leftovers in-
stead of healthy food.

(5) To demand an explanation
for the poultry being over-
weight and unfit.

18. What lesson can be learnt

from the story 7

(1) Patience and hard work
will help one achleve
SUCCesSs.

(2} Pursuit of riches and
wealth is all that matters.

{3) One should use any means
of possibility to attain a
promotion.

(2} One should be satisfied
with whatever job one gets
and not rouch more.

(5) It is very difftcult to get

something in life without
bribing.

14, Choose the word which is
most nearly the SAME in
meaning as the word LOW
given in bold as used in the
passage.

(1) Small  {2) Gentle
{3) Unhappy (4) Short
{5) Soft

18. Choose the word which is
most nearly the SAME in

owen MoEney

| .
f eente'nCBB (A,D [B}s lC). 18‘ w
guaﬁg (F) in the praper se ~
to form a meamns
then answer the questions gy
pelow them. @

meaning as the word CLOSE

(1) Shiut -

() Neighbouring Ve
. + - ! To- - ,

(a) Dear’ (9 Carehy . ©)
pirections (18-20) : Ry, (7

the following 8ix sen Wi

f]-],B
ngful paregray, o

A. He did whatever work u,, (1)}
assigned to him and s,
the Hon became 8o fondy 19

him that he promised b!
give him a cart full y o
almonds as pension why, {
he (the squirrel) retired.

o

B. Once a squirrel joined g,
service of the king of ty,
forest, the lion, 20.

C. The squirrel had waited s
Iong for this day but whey
he saw the almonds, hs
was seized with sadnessas
he realised that they wer
of nouse to him niow when
he had lost all his teeth,

D. However, he envied othe
squirrels in the forest ther
because of their carefree  (dio
life which he could net am
enjoy as he had to bely  ger

the king's side all thetime. g1
E. He consoled himself wit  th
the thought that atthe pu
end of his career,ht o
would receive a cart ful
of aimonds, a fopd that
only a few squirrels gott
taste in thelr lifetime. 1
F. Finally, the day camt
when it was time for him
to retire and as promistd
the king gave a grand
banquet in his honour ané
presented him with a ¢
full of almonds.

—_—

eacl

18. Which of the following shov¥

be the SECOND sententt

after the rearrangement ?
(1} A @B
8) F

WD

S

BE




ST oh of thie following shoi S — iseeludinis
g7, Which a1t7e b owane oild | 2. Through her clforts (1)/' '
- pe the FIRST tenice 1)/ she | |. i o
L bufemm-angemss::t? afer ﬁﬁﬁﬁ%ﬁ%ﬂ"’pm serveral r NUMERICAL RBH.“ITY 3 |
- B 4] Directio come in place of the guestion
R‘% @ @ D following ns (26-30) : In the | 50 (7) in each of the foliowing
Ry OE each passage there are blanks, | -
KN ch of th of which has been numbered. nuraber series ?
{‘;&_ ne the FIFTH sentence after | Pe5528¢, egainst each, five words are (1) 3600 (2) 3621
& _:: th;;”“gm:“;nt? 2‘1"3;1‘:3;;1 o':)l:-j,e of which fits the (3) 8601 [4) 3611
(1 2) D propriately. Find out the
s (9 B @ F appropriate word in each case. ) 3602
L A A long tme ago. in Athens, & g2.7 11 19 35 677
,:;’0: . E’ri“ch - middie-aged man had two wives. M ) 181
. e followin: : e on
0! 18- B the FOURTH T o | Wasyoung cach laved the ma very (26 17
“h:: agiter the rearrangement ?ncc ﬁmncéleﬁ d”'éfd fo sce him ke © ot
' < , Now the man’'s hafr was as. 8 22 @64 190 668 ?
1 (1A 2B {27) grey, which the young wife did (1) 1702 (2) 1654
! (8 C 4 F not like, as it made him behave too
By 5 E old to be her husband. So every (8) 1850 @) 1706
ty ¢ : night she would (28) his hair and {8) 1705
20, Which of the following should pick out the white ones. But the | 34. 5760 2880 960 240 48 ?
iy be the SIXTH (LAS') sentence elder wife saw her husband growing
by after the rearrangement 7 grey with great pleasure, for she did (1) & @ 12
k () c @D not like to be (29) for his mother, (3) 8 w2
S Soeverymormngshewuuldanange {5) 16
3 A @) B )
ten };‘s }gla;rmand pick out as many of| 35,2 3 18 115 864 ?
' E e ones as she could . The '
h g:rections @1-28) : Read | oo ion that the man seon found w07 (2) TIG7
he egch sentence to find out whether himself entirely (30, (3) €992 (4) 6913
ul there is any grammatical etror or 26, (1) second () next (5) 60569
® jdlomatic error in it. The error, if (3) another [41 alternate 86. The sum of digits of a twWo-
% any, will be in one part of the (6) future digit number is 12. When the
b centence. The number of that part 27. (1) little (2) tuming digits are interchanged, the
. 1ig the answer. If there is ‘No error’ {9) some @ alt resulting number is 36 more
4  the answer is (5). (Ignore errors of (5) entirely _ than the original number.
k punctuation if any) 28. (1) pluck  (2) select What is the original two-digit
i; 21. The oak tree always 1)/ (3) assort (4] comb number ?
thought that (2)/he was {8} cut (1) Cannot be determmed.
: strong (3)/ than the other | 29. (1) called @) 93 (3) 48
trees {4)./ No error 5) (2) said (@) 39 5) 8
29, Itwas strange (1)/when people {3) responsible
" started (2) Jcongratulating me (&) mistake 97. A car covers first 39 km of its
¢ (3)/on completion of my journey in 45 minutes and
§ (5) seem remaining 26 km in 39
dissertation. (4}/. No erTor (5).
L 98, Th Chandresh 1s known 30. (1) curled {2) haid minutes. What is the average
d . (llﬁﬁﬂs playfeSl s:Yle we (3) grey (4) black speed of car during the whole
¢ admire him (2)/for his ability (6) hairys Journey 7
i to shape a world clearly (3)/ | |Biust Road ——— Buy Tod (1) 40 kamph (2) 64 kaph
from few and carefully chosen Kiran’s (3) 49 kmph (4} 48 kmph
(5) None of these

words(4)/. No exror {3)
A good employee (1)/1s one
. which (2)/1s always wiiling

, {3}/to go the extra mile.(4)/

COMMON ERROR

98, A, Band C entered intoa

parinership by investing
254000, ¥ 52000

IN ENGLISH

and R36000

.. No error (5)
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89, Ifa manmmsat 6 kmph from
his house. he missés the train
at the statlon by 8 minutes. i
he runa at 10 kmph, he
reaches the station 7 minutes
earlier than the departure of
the train. What is the distance
of statfon from his house? {in

Iem)

hla shanc in the

3 1
wmiz @ 3

1 3
[_3) 41‘ {4) 3;

.
= 45

" 40. In the year 2012, the ratio of

the number of studenis in two
institutes A and Bwas 7 15
respectively. In 2013, there
-was an increase of 25% in the
number of studenis in
institute A and fthat in
institute B by 26%. What was
- the respective ratio of students
in the institutes A and 'B in
= 201372 ¢
(1) 25:56  (2) 24: 55
{8) 24: 58 {4} 25: 53
| (5) 25:54
- . Directions (41-50): Whiat will
- rt:t:lmelrm]:tla.ci: of the question.mark
: .(?‘Igln. the follcwtng questions-?
§ 41- 16&4’?‘—933, V! g::
Y ﬂ%m S oL@28
3 8L, 'mm
; 415} 14 §
20475 2_1525) H6=?
10 21 12p
) 75}

{11 0.6 04
(3)0.8 {4) 025
(5} 0.75
1 ,2,0 =
1571520 =°
8 3
11 (2] 10
7 1
©) 15 4 15
19
{6) 10
' 2
48, (L]s +Lx4=?
ea) 24
(1) 16 2 8
3e (a) 2
@1
46. 157+ 7 +23=14*
(1) 62 (2) 256
(3)225 @ 25
{5) 36
47. 80% of 3 + B of 7 =3
(1) 10 2) 40
3 20 {4) 80
(5) 60
48. J784 x5-15=(2°
{1) 15 28
33 {4) 5
5) 4
49, J9ix247 =
(ns (2) 1
3 J3 @9
5 5 o

BO. 2x§x[7-l+§]=? _

8

{1)12 {2) 20

38 (4) 10

(5) 16 '

1. Sharad bought 36 kg ofsugar

at the rate of Rs,, 45 per kg

and 24 kg more-at the rate of

Rs. 40 per kg, He mixed these
two varieties and sold the

ntixture at 20% profit. At

what rate per kg did he selt the

52. Raghuvir bought 10 ﬁlc'-ilatu

MWormga;g -

[1)?5160 m)!_ A2
(3 T5236 W ??2.4'4
) T 5429 :

and 16watches for Ra. 53900
and sold them at an

(5} 2 a837.10 |~

profit of 20%. At what : 181
Should he sell 15 caleulaty . ) one
and 24 wathces so that y, '3 lﬁlﬂ ca
receives the same pe'l'cemage .~ 5"““;76
of profit 7 M ps. e
(1) ¥ 100980 (2) T 116178 cagfe p
(@) T 121176 {4) T 100800 Been b
(5) T 124132 amOuY
B3. Some chocolates were mn'nbe
distributed among four ) 13
friends A, B. C and D sugh ) 17
that -the respective ratip ° ©
petween the mumber of ; (B 11
chocolates received by A ang .
Che 7:9. B got 29 chocolates | 48, Ram §
more than that of A and D got
33 chocolates more than that - @ 3¢
of C. If B. got- 15 chocolates
more than that of C, how divide
many chocolates did D
receive? ares!
(1) 84 (2) 96 the ¢
3) 2 4 98 shou
(5) 87
64. The average weight of 40
students In a class is 5D kg ]
Six students of them whose 1)
average weight is 52 kg leave
the class and ancther group ()
of € students whose average
weight 18 42 kg joins the class.
What is the new average of the (5)
class ? {in kg) LB Ay
(1) 5425  (2) 5275 day
(3) 535 4) 34 we
(5) 53 ho
56. What will be the compound w‘
interest accrued on a sum of 8
Rs. 18600 for two yearsifthe = 3
rate of interest for the first | 5
year 18 8% per, annum and A
that for the second yearis d
15% per annum? ;o v
(1) T 4489.90 : b b
(2) ¢ 4867 20(3;? 4232.80. & . - ¥
(4) T4501.20 b {
; . :’t
i




i)

‘?ﬂun‘lber'of roge and lily
*!ﬁmm'-m; a garden is 3 ; 2,
fhe average nwmber of rose

 Liv is 180, What 1s the

. :’:}:hef of lily flowers in the
v > geden?
&?&tm;:‘g Eﬁ“‘i 4 (2) 380
[+] thht C @ 181 (4} 218
la;& {5) None of these
., somecapsules were bought for
11817& o ga. 176, I the price of each
008 le had been Rs, 3less, 6
Oy mort capsules would have
peen bought for the same
5 gmount. What was the
[xg fuue pumber of capsules bought ?
n? s“rhr 18 {2) 16
ﬂbe:.a!;? [3; i‘: 4) 8
WAy O
1
L
7
33%“; g8, Ram was asked to find 5 of
ﬁlﬂg a fraction but he mistakenly
a
%.1;10-; divided the fraction by % .As
[]
aresult the differnce between
the answers was g . What
should be the Ram's correct
tof 4 ?
55 ke 1B 2
wme 32 @ 12
B leaw 5 5
* grodp @) 16 4 17
wwerag o
»class =
2 ofthe ) 16

§0. A work can be finished in 14
' days by 36 workers. If the worl

were to be finished in 8 days.,
how many additional workers
would be required ?
:ov'f[ (1) 29 (2) 33
us
e (3) 23 (4} 31
! (®) 27

Ry
2% . A boatman can row a boal
ar b downstream at 13 kmph and
upstream at 9 kraph. What will
be the speed of boat in still
B weter 2 {in kenph).
800 Wi (2108
o @ @0
. (5] l ' ;

T iy s ni
Directions (61-66): Study the following table carefuly and aney

the given questions.

Number of books seld by different stores in .:""E aon
tore a2 | 8 c D | E .} F
Month o o o
January 133 161 213 | 225 262 | 196
Pebroary | 183 | 123 | 277 | 176 | 239 | 288
March 278 164 226 o8 178 198
April 178 272 269 | 284 203 277
May ea | w07 | 297 | w7 | 8@ | 2T
61. By what percent is the
number of books sold by store REASONING ABILITY
E in March less than that sold ' word
by store A i:sMay % {rounded | 6.1 lei‘:h oonsonangntothé pre
: 'SLATER 18 chang epre-
off to the nearest nteger) vious letter in the English al-
(1) 22 ) 31 phabetical series and each
3 a7 (4 33 vowel 1s changed to next letier
(5) 35 in the English alphaalbetigz:;
, and then th
62. By what percent s the toial :ﬂm me:rra:gegh '1: an
number of books sold by store alphabetical order from left to
B less than that sold by store right, which of the following
D in all the months taken to- will be third from the right?
gether ? (IR @F
1) 12
wiz @18 (35 @g
(3) 10 [.4] 14 (BIM
{5} 16 Directions (67-68) : Study the
63. What is the average nuwmber | following information carefully and
of books sold by all the stores | answer the yuestions given below :
in the months of February ? Point N is 12m to the south of
(1) 207 (2) 211 Point B. Point T is 18m to the west
@2 @23 of Foint N.
Robert who is standing 5m east
(6) 227 of Point B, walks 4m towards south,
64. What is the difference | tekes a right turn and walks 23m.
between the number of books | He takes a right turn, walks for 10m
sold by all fhe stores in the | and stops at Point G.
months of January and Aprii? | g7. In which direction is Point N
(1) 353 (2) a78 with respect to Robert’s start-
(3) 363 {4) 347 ing point?
@5. What is the respective Tatlo {3) North  (4) West
between the number of books (8) South-west
sold by storgs A arzg C:_ 8. How far and in which direction
together in the monih 0 is Point T with re
March and that sold by stores GR spect to Polat
E al:lld F together 1n the month {1) 8 metre towards south
of May? (2) 12 metre towards north
o1} (2 11:13 {3) 16 metre towards north
(3) 8: 7. (4) 18: 17 {4) 18 metre towards south
(5) 22 metre towards south

B 719
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. " 80, In'a certain code, ‘on my waif

" 1s poded as ‘sa kime’ and ‘way
to park’ is coded as ‘nu mo f&,
then what is the code for “way’
in the given code language?
(All the given codes are twolet-
ter codes only}
(1) d
(2 Either 'fe’ or 'nw
{8) mo
(4) sa
®)fe
70. How many such palrs of let-
ters are in the word "CLING',
each of which has as many let-
ters between them in the word
(in both forward and backward
directions) as they have be-
tween them in the English al-
phabetical series?
{1) More than three
(2} Three (3) One
(4) None (5) Two

Directiona (71 - 75) : In each |

of the questions given below, rela-
tionship between different elements
haa been shown in the statements
followed by two conclusions num-
bered I and II. Read the staiements
and conclusions carefidly and se-
lect the most appropriate answer in
each question.

71. Statement @
C>0=M<U<£N«D
Conclugions

. L O<D
.C»>N
(1) Only conclusion I is true
{2) Either conclusion 1 or I is

' true '

(3) Only conclusion I is true
{4) Both conclusions I and Tl
are frue

(5} Neither conclusion i.lnor It
. is true
72. Statement :
P>L=A>C=E
Conclusiong :
2L EgL
.. L P»C

73.

(742 -

74. Conclusions:

75.

{1) Both concluston J and T are
true . ) .
(2) Nedther conclusion I ior If

is true
(3) Only conclusion O is true
(4) Either conclusion IorHis

true

(6) Only concluston I s true

Statement :

NzUcM=2EBEsR

Conclugions :

I. NxR

I EgU

(1) Either conclusion [ or I is
tue

{2) Both conclusions I and II
are brue

{3) Only conclusion | is true

{4) Only conclusion II is true

(5) Neither condlusion T nor I
is true

78) :

Statements :

S>TgA=I;LzA

L LT

H A>S

(1) Netther conclusion I nor 11
istrue - '

{2) Only conclusion 1 is true

(3} Both conclusions [ and 1
are true :

(4} Either conclusion [ or I is
true

(6} Only conclusion IE is true
Conclusions :

. 8»>L
oL iglk
(1) Only conclusion I is true

(2) Either concluston I or 1l is
true :

(3) Beth conclustons I and IT
are true

(4) Only concluston 11 i3 true

(5) Neither concliagion 1 nor 11
lstrue . ., !

L

_answer the questions given b o,

Directions (76-77);: Stugy,
following fformation carefully 5,

G is the mother of R Riny, ¥
mother of S. S 1s the daughterofy 4

T1s the brother of J. J 18 the 7 o
orsL. L is the daughter of @. 9, ﬁﬁqﬂfktg
' the son of D. e

$ 3 !
76. How is T related to G ? e )':t“]
(2) Daughter oS ¥

(1) Son b
(3) Son-in-law(4) Sister W“ﬁﬂ'
(5) Daughter-in-law ﬂ,ml ot

77. How is S related to J ? Wne
(1} Son (2) Niece go‘ﬂ bt
(3) Daughter (4) Nephew gl god"l
(5) Cannot be determined ) -
Directions (78-80) : Study the @ sd
following information carefully and 6l

answer the questions given below:
 Sixstudents -P.Q,R. S, Tand 3. whi¢
U - secured different marks in an repr!
examination. P secured more marks =
than only two students. @ secured 8) v
more marks than S but he did not

secure the highest marks. 1 secured 6}
more marks than only R The one | §3. Whi
who secured second highest marks

got 480 marks while the one who {1}
secured the second lowest marksgot 8y
350 marks. 5)

78. Which of the following state- g4, W

ments is/are true regarding T o

as per the given information? (

(1} T secured less marks than {3‘
only two students

{2} T possibly secured 500 5

maks - 8.0

{3) T secured more marks than 4

S but less than Q ¢

()T definitely secured 480 - (

marks . !

(5) All the statements are tru¢ - tfihe

79. Who among the following s¢ State

s (@R : oty
3T “@u . ey
(B} P | ; ::
80. Who among the. following s& ; %
cured 400 marks ? 3 thy
me (s STy
(A Either Por S RN I
@r . 1
(8) Either B of T &




r ét\*em ;@ (81-88) : Study the ) — :
s Ao ion ey s | o o e e et
h ; i - M
ht;:ﬂ'le h‘ﬁ ma certain code language. lus IGNI‘_’O:I]‘;W‘“ (9) if either Con- | 10 Sunday, but notnecer:m,?l?yda;; i
o g% prepere for your exam' is written as Give llows. the same order. Each one of them i
" '9-‘ - at 0z Wit Conclusion';m“r (4) if nelther studies in different clasees, viz, gﬁ‘
tog n ot worlk for prepare’ is wri Cive nor I1 follows. First. Second, Third, Fourth. Fifih. A1l
2) Da ot 10l OF ' tten as d angwer (5) if both Con- Sixth and Seventh, but not T
) g Bty grepareyour study well usions 1 and ¥ follow. necessarlly in the same order. &
4) siq prepare stu well’ Is written | 86 Statements : Theoncwhosmdieammemrst
ter d jkc nt xn!
Tlay, gs'9d] No win 1¢ loss. Standard hes an essay competition
dto well best result’ is written as All on Saturday. S studies in the
2 Jo  gslujkml losses are victories. Second S and has an esay
2 Tece puthe codes are two lettered cod Conclustons : competion on Wednesday. Nhas the )
Neﬁhew e es 1. No victory Is wi casay competition ymmediately Y’
"::te'rnm.l gl. What is cod . I i - before Q. N doea not have the essay .
30) i codelan e for ‘best’ in that  Some victories are wins, | competition on €67 ‘day after that i
: * Stugy i guage ? 87. Statements : of S. The one who studies in the i
1 careyy & 21 ml All sides arc lengths Seventh Standard does niot havean i
given beI;: B)sd (4) ds No . essay competition on any of the lf
Q.Rsyy  ()siher de o T o preadth. days on or bel® Friday. !
mar oluslons : e one wha studies in the
a:lsmﬂﬁha 82. Whicl; e:tf the figo}:il:‘g?may 1. Alllengths are sides Third tlSt:a.nclev,m dhe:;ily the essay i
s exam ' competition immediately after 0. 1%
oot l?:d]d };}w} ml E (2) 2 ti oz L. No breadth is side. does not study in the Fifl?l ' Tk / 'é
T R I Ty L
o remark is |
e;‘wu g3, Which of the fallowing is the ak I8 wish. the essay competition tmmediately i
A Mm corde for ‘study for' 7 Z‘:me wishes are hopes. ?;rcme or after 5. R does not have }\}
. nclus . esaay competitl '
vest marksg {1}ozsd (2) ds sd kfm and doeg not gﬁuild;l} or&sundav % \
@ 1. Atleas n the Third 1
3) fis xm (4) jlc sd ¢ some remarks are | Standard. P docs not have the essay
" _ (5) mlsd hopes. competition on any of the daya "“////
owing s gg, What does the code ‘nt’ stand Y '
e l‘egarﬁn;i v s _ code ‘nt’ . 1. All hopes are wishes. hefore that of M. . 4 2
inforrnatiol , Statements 3 ©1. Inwhich of the following stan- i
s rnarks s g) your (2) hard Sorme pens are erasers. dards does Rstady ? ’ig
Jents )prepare _ (4) work All s} exs aze {1) Seventh  {2) Fifth. B
secured 5 (5) exam Conclus! ' pens: (3) First {4) Second -5\
86. gcbat is the code for ‘well' in ons i (5) Fourth - 4
e marksl given code language ? I All sharpeners being eras- | 82 Four of the following five aré N
an Q {lnt (2) ml ers is o possibility. alike in a certain way on the i
148 (3)3k 9 xn fi. All erasers are pens. bests of the information gHven 4
secult 51wl ' above and hence S
[n]ueetlons (66-00) ) 90, Statements & Which one of tmalg::p. i
: In each o ng it
ents ar¢ it ofthe questions below are given two Some names &S languages. does not belong to that group? &
sollowins® statements followed by two conclu- AR languages are pocms. (1) P~ Saturday 1
| ghestﬂw# gtons numbered 1 and I You have Conclusions ! (2) O - Tuesday 5,
to take the two given statements 0 (3) M - Wednesday :_
)R be true even if they seem to be 8 at [, At least some poems &rc {a)s- Monday
U }':Smaﬂce fr:;‘lnmcommonly known names. . " {5) R Thursday :
EEEgEmem i S riERcEe
follo™¥™ " clusions logically follows from the ' £ inf s:fgtmmme
7 statements disregarding comm Directions (91-98) : SO 10 ofinformation ghven b0 £
vy kmown facts, © . g only | following information carefully and (1)M has the essay competi-
g Give (1) 1f only Con- answer the questions given beiow : tion, on Saturday '
clusion I follows. - Seven fiiends, namely, M. N. 0. (2) R has the cssay competition
P, @, R and S, have one essay jmmediately after

e SN wﬂ,mm CTICE SET-09 | '
_— | MODEL PRACTICE S

«i
1




A

| momit éﬂﬁm'msmg ’:

, ﬁf—Q.‘gtudles in the Sixth
. "Standard

{4) Only two students have.

their competition between
Sand P,

(5) All the statements are true
94. Which of the following combt-
nation of Student — Day -
Class is definitely correct ?
{1} R— Friday - First
" (2) O - Tuesday — Fourth
(3) M ~ Thursday — Third
{4} @ - Saturday - Fifth
(5) P - Sunday - Seventh
98, On which of the following days
of the week N has his essay
competition 7
{1} Saturday (2) Friday
(3)Sunday  (4) Monday. -
(5) Tuesday
Directions (96-100) : Study the
following information carefully and
answer the questions given below :
Eight persons - L, M, N, O, P,
Q. Rand 5 - sitting around a circu-
lar area at equal distance from one
another, but not necessarily in the
gsame order. Some of the them- are
facing the cenire while some others
are facing outside (i.e., in a direc-
tlon just opposite to the centre).
S is sitting fourth to the left of
P. O s sitting second to the right of
5. S faces outside. L is sitting third
to the right of R. R is not an imme-
diate neighbour of P. Both the im-
mediate neighbours of @ face to-
wards the centre. Both the inumedi-
ate nefghbours of M face opposite
directions (i.e., if one person faces
towards the cenire, the other per-
son faces outside). Both the imme-
diate netghbours of S face the same
direction as that of O (i.e., if O fac-
€8 towards the centre, then both
the immediate neighbours of S also
. face towards the centre and vice-
versa). Both the tmmediate neigh-
) ‘b,ﬂ_‘_'-!IS-UfP face the just opposite di-
- Fection of P (Le., If P faces towards
ke centre, both the immediate
Bours of P face outside and
‘s.a" '

986, Which of the follgwing state-
ments {s/are true regarding N

as per the diven seating ar- |

rangement ? .

(1) N is sitting to the immedi- |

ate right of M o
(2) N faces outside
(3) Only two persons are sitting
between N and Q
{4) L is sitting second to the

right of N
(5} S is one of the immediate

neighbours of N

97, Who among the following is sit- |

ting to the immediate left of P ?
IR @M
3)o 45
(5} @
98. How many persons are facing
outside ?
(1) One
(3) Five
(8) Two
98, What is the position of R with
respect to O in the given sit-
ling arrangement ?
(1} Fourth to the left
(2) Third to the right
(3) Fifth to the left
(4) Second to the left
(5) Third to the left

100, Four of the following five are
alike in a certain way on the
basis of given sitting arrange-
ment and hence form a group.
Which one of the following
does not belong to that group ?

()N )0
(BIM “@p
(5) L '

(CETEATESHINEORMATION;
FOR
LATEST VACANCIES
and Dates of
Written Examinations,
log on our website :

www.kiranprakaghanoom

{2} Three
(4] Four

NSO M A a0
== ANSWERS: M:ﬁ o
10] 28] 50 S Leeri
s | e O &g G
.0 10.8 | L0 i
13. (1) | 4. (1)} 18 (4) 1ETff rhg (-‘g‘t‘m'. He
7.9 | 18.14} | 19.05) [ 20y . ghout
2L.(3)] 22.0] 2.0 | 24 ol
75.0)] 26.01] 27-(1 | 8.4 w%wm
20.(1)| 80.12) | 81.19 | 82,y {ence: i
33.(1) | 84.13)| 85.(2) | 86.@3] beuaed]
7.¢4)| 98.0] 30.(4 | 30.69]  gere
np| ol ealuag #? .
5.0] 00| 7.0 | 48 T oadw
40, (1)] 50.(4)} 51.(1) | 52.¢g ec3 v
53.12)| 54.(3| 55.(4) __@ ‘. (@) The |
57.2)| 88.13 | 56.(5 | e0.@]: " |
611 | 63.0] 63.03) [ ey X .
85 (10| 66.4| 67.051 | e8.a|. 3%
.| 0@ L[y NF
78.8)] 74.01| 75.@ | 7e.09|% 12
77.2)] 78.@ | 79.(1) | 80.¢31|] @OL%XB
8L(5) | 82.(4)| 83.01) | 84.(3] !
e5.2)| 86.09| s7.12) | se.qa|: % TF
80.4) | 00.(8)| oL (3 | va.m|; T2
03.12)] 94.(5] 95.14) | ge.¢9|: 11+2
97.12)] 98.(@ | 98.(1) [100.3] ! ;g*z
: +
={ EXPLANATIONS = ' 72
2. (2) Recover = the process of
improving or becoming stron- | 3% (1) Th
ger again. . i 8x3-
Appropriate word should be = E 22 %!
 mise. i B4x:
4.(4) Correct spelling is = suc; : 190>
cessful,
8. (1) Appropriate word should be | 568
=New, AT
9. (5)Bitterly (Adverh) = in a i 576¢
way that shows feclings of 288¢
sadness or anger, extremely: 960
Gladly (Adverb) = happily: 40
with thanks: willingly. 48 o
14. (1} 1low (Adjective) = weak of
dcprcsscgﬁlown. poor, smalk 3&{2)1
not enough of something Ax
16. {4) Cloge (Adjective) = deat §  Ix
~ knowing sotnebody very well ¥ - 1,&1
and lLiking ‘thgin wiry much

near in ml:;tié'r’i!shi;ﬁ.‘ '




SOR senterce- (8) Original two digit fiombdr ||
T ' =10x+ y et '- |
RE. - Henees if was stronger . '
Ry gorparative degree) ..., Sx*9=13 ‘.(i
-.._:;.‘1& o gpouldbeuaed. m’: interchanging the digits, |
N % {91t 18 preposition related number cbtained i
all‘% erior. Hence, for his playful =10y+x
\\\' & 10y+ |
HENS ,.....shou!dbeuscd here. Y+ x=-10x-y=38. |
TR¥ 5 (2)Whao is used to show which :?"9’“3‘5 :
“ pﬁ::lorpeople you mean. - y(y; "3;' 36 A
) Herice, is cne who ..... should =X=4 e {i);
ﬁg be used here. On adding equation (] and 1), 40. (5) Total number of gmdmts
24 g5 @ Here, she manages/has 2y=16=y=8 ‘ n institute A In 2012 = 7x
E‘Q managed ..... should be us ed. From equation (1), . Total number of students in
i agrees with singular " - Required ratio after
% ' verb. =x=12-8=4
%‘t g1. [3)The pattern is : N = corresponding increases
g exa-1-12-1-11 7. urober =410 + 8= 43 7y 125, 1522126
%{E J1x3-2=33-2=31 - {4) Average specd 2 {%%700 100
*7}91 a1 x4-3=124-3=121 _ _Tots) distance (7 % 126) : (36 % 126)
Tlo.\g 121 x6-4=605-4 =601 = “Total tme taken =25 : 54
E@- 601 % 6 5=3606-5=[3601] _ __(e9«a5ikm ar. (5 2203
E‘;@g g2, (2} The pattern is : (45 + 35) minutes T
By 7+22=7+4=11 : 168
T_{'—:ﬁ 11+28=11+8=19 = 50 mmutes = "2 9+3=12
L) 19+2t=19+16=35 = 12x?=168
E 35 +25 =35 +32=67 [64)(60] g 168
— 67426 =67 + 84 = [131] 80 =?=gz =1
u! u =
sty 33 (1) The pattemn is: o8 5;18;::?1; . 42. E‘?’L:; 520‘575 +275.25)+ 6
8x3-2 =242 =27 '(6400(;‘52000 ;:ogc;B:C Ay
d be: 22 x3-2=66-2=64 = : : 40 % 240
—aa . as. 3) —Tnn =120
cax3-2=192-2=190 :64:52*36 T
- 180 x 3 -2 = 570 -2 =568 =18:13:9 . :
. 16 = = 36084 =}93-!-?=1205§§'=120
5683 2= 1704-2=[1702] o . ?
b 584 =
uldt g4, (3) The pattern is’: ~9= -—1'3—'%9 =Rs. 20016 =?x120=98
. 5760 =2 =2880 - 26
; mu 9880 +§ =§60 39, (4) Distance of station fromthe =?=To0 08
1«‘:’;‘; 960 + 4 = 240 house of person = x ki (let) IR
240 + 5 =48 leferenceoftime=8+7=15 44, 151?=1—5'—1g+2-{5
minutes
JP“E 48-;—6: 5 - §__7+21
o4t 33. (2) The pattern is ¢ = 50 hour = - hour =V'"3 5 10
o 2x1+12=2+1=3
W 18 x5+ 6% =90 +25 =115 - 8°10°%F !
d $XT+7:=805+49=854 : 2
H g B - I 45. 3 ? e -'-'x4
o e ['“me = ] 9 E{GQ} T




i
4
3

M Y e

.80, @?= 2x-—-x(_.,._,.]

~Rs. (1620 +960) © |
= Rs. 2580 ' K
2580 x 120 . 108
Total SP. = — 150 = uyaoox_mem0 .
=Rs, 3026 =Rs. 231012 . B
3096 ~ CL - _
¢ S:P. per & = "5 ~Rs.(25101.2-18600) .
dx4 =Rs. 51.60 =Rs. 4501.2 ‘
46. (2)157+ JF +23 =147 B2. (4) Total S.P of 10 calculators 56, (1)Totalf SDfrOBeandmy o "
and 16 watches ~
=180%x2= 360

=180+ J7 =196
w J7 =196=160=16
s~ ?=16% 16=256

£7. @) [3?0’32) +(?%x7) =3

'1_21_[?):7]___3

= 1o \100

x7

Too =3

= 16 +

7
160
= ?x7=14x100=140

140
= P = —-,}-=20

=3"'116=104

=»

48. (4) /7824 x5-15=?®
=2 28x5-15=(?P
= 140~ 15 = (7]
= (7%= 126 = (5)°
= 7=5

49. (1) y22x 247 =5
=P2x247=25
=5MPx2=25-7=18

18
=M= 2 -

=27= J§=3

5 (28 3

8

4 4

5 a2
2xxZ o
= 2xgx—=10

L

_ 56000x120 _ o g7200
100

. Total S.P of 5 calculators
and 8 watches

- 91';:—09=Rs. 33600

», Total S.P of 15 calculators
and 24 watches
- 33600 % 3 = Rs. 100800
B3. (2) Chocolates got by A =7x
Chocolates got by C = 9x
Chocolates got by B = 7x+ 29
Chocolates got by D = 9x+ 33
According to question,
7x+28-9x=15
=29-2x=15
=2x=20-165=14
=x=7
~ Chocolates got by D
=9x4+ 33
=9x7+83=63+33=98
54. (3) Total weight of 40 original
shudents
=40 x 55 =2200kg
New Welght of new group of 40
students ‘
=(2200-8x52+6x42) kg
=(2200- 312 +252) kg
=2140kg
*» Required average
2140

""'E*=53.5kg |
v

BB. (4) A= p[1+L]T |
=" 5g6).- -

Rose:Lily =3:2
~ Number of flowers of lily

=—:-><360=144

§7. {2) Capsules bought = x
176 176

b ——

x x+8
x%B—x
T 1=3

= 176‘[ x(x-i-ﬁ]]

= 176 %6 =3x(x+6)

= x(x+68)=352=22x16
=x{x+6)=16 (16 +6)

= x=16

88. (3) Original fraction =x

=3

. X _xx7 _ 75 .
7 8 784




63. (2) Required average

_ 183+123+ 277 +176+239+ 268
= 8

1266
6
64. [3)Total sales of books

January = 133 + 161 +213 +
226 +282 + 196 =1210

April = 178 + 272 +269 + 284
+293 +277 = 1573

Difference = 1573~1210=363
68. (1) Required ratio = (278 +226)

=211

: (379 + 237)
=504 ; 616
=9:11
oL m‘(4)
s L A T E R
---ll +1 -1
S F @

direction with respect to Rob-
ert's starting point.

88. (4) Distance between Poinis G
and T =(10 + 8) metre

= 18 metre

Direction = South

89. [9)

on my [way] ——> sa ki [mol

[way] to park —> nu [mo] fe

76. @)

14
N

3 129 7
cC L 1 G

71. B)C20eMcUgN<D

Oonc.luslons_:,
1. D<D:Trus

IL C>N: NotTrie -

ICSE-118 ) F

Alphabetical order's 72. (1P SL2ASCuE
Ul 263-36=27 : Pfc' e ¥
Speed of bo (o> T s
i g0r (9 Speed of boat (n stil water 3rd fom the right | 23, )N U<M=B2E>R ar
. L (67-88) : Conclusions ; i
i = 7. {dowmstream 113
B%) 2 * upstream) I. NgR:NotTrue HE:
' 1 : L. E g If : Not True %
- g = 7U3+9)=11kmph copary | 74T il
5 : =1: :
" g§1. {4} Required percent g ?L)T : :iii =1 ;LZA e
23 m 4 m i
. - 264; ;‘:73 x 100 “ . 74. (2) Conclusions : g
w e | ne
- ez =% = fusions v
18m 75« {4} Cm : ‘.
ay 2. (1)) Books z0ld in all the I. $>L:NotTrue %
roonths : M I<L:True L
Store B = 161 + 123 + 154 + North (76-77) :
272 + 107 =817 NW NE T is father of S. R
Store D = 225 + 176 + 98 + 284 R is mather of S, L
3 + 167 =950 West So, R is the wife of T. -
Required percent Bast S is daughter of Rand T. %r
] 950 - 817 J is the sister of T.
= ——gs—o—x 100 SW SE 78. (3) R is the mother of S.
2x 18 South R is the daughter of G.
.6) ~ 13300=14 R s the wife of T.
- 950 @7. (5) Point N is in South-West So, T is son-in-law of G.

77. (2) S is the danghter of T.
T is the father of S.
J 1s the sister of T.
S0, S is niece of J.
{78-80) :

O.00®-0.0

@ Eﬁll E-E-8
[T] > [Q]> [S}>|Pi>Vi>

78. (2)T secured the highest
marks.
T secured more than 480
marks.
T secured more marks than &
and .

79. ll]Ssewredthet!ﬁrdmghliﬂt
marks. .

80. (3) EllherSorPaecumd&QD




, SET gy

study
best

81. [5) The code for ‘best is either
‘ds’ or 'Iu’.
82, [4) exam = wl
hard = tk
The code for ‘is' may be "zr'.
83, (1) study=sd
for = oz
84. (3)nt = prepare
86. [2) well = ml
{56-80) :
(i) Al losses are vietories —
Universal Affirmative (A-type).
{ii} Some wishes arehopes —
Particular Afirmative (I-type)
(i1i) No win isloss — Universal
Negative (E-type}
{iv) Some wins are not losses
— Particular Negative (O-type)

86. {3) No win {s loss.

Al losé'e{:re victories.
E + A = O type of Conclusion.-
i " “Sorne victorics are not wins."

i Conclusions I and II form
i * complementary Pair. Therefore,
¥ either Conclusion 1 or I
follows.

87. (2) All sides are lengths.

No length is breadth.
A +E = E - type of Conclusion

-, . “No side 13 breadth.”
. ' Conclusion [ 1s Converse of it.

haxd Wﬂqﬁ@é tk

G — 0 <] @
result —> ds lu

88. {4) No remark is wish.

Some es are hopes.

E + [= O;- iype of Conclusion
“Some hopes are net remarks.”

89, (4) All sharpivareﬂans.

Some pens arc erasers.
A + 1= No Conclusion
80. (5) Some names are languages.

All liages are posms.

I +A = [-type of Conclusion.
“Some names are poems.”
Conclusion I is Converse of it.

the first Prernige.

{91-96) :

Day Student| Class
Monday N Sixth
Tuesday _Q | Fourth
Wednesday S |Second
Thursday 0 |FRifth
Friday M |Third
Saturday " R |First
Sunday P | Seventh

Conclusion II s Converse of |

81, (3) R studies in the First Stan-
dard.

82. (1) O has the essay competi-
tion on Thursday but the day

given with it is two days be-

fore Thursday.

Thuraday - 2 = Tuesday.

But, P has the easny compet-

tion on Sunday and the day

given with it 18 inugediatey,
before the Sunday.-'§ '

93. {2 M has the essay. compey.
tion on Friday. -
R has the essay competitigy
on Saturday immediately afte,
MO
Q studies in the Fourth Stan.
dard.
Three students have theireopy, -
petition between Sand P

94, (5} The combination P = Sup.
day - Seventh s correct.

95, (4) N has the essay Competl.

tion on Monday.
(98-100) :
S5
N 1.
R 0
Q
P

98. {5} M is sitting second to the
right of M. M is faciug outside.
N faces towards the centre,

Three persons are sitting be-
tween N and Q.

L faces towards the centre. Lis
sitting second to the left of N.
The immediate neighbours of
SareNand L.

987. (2) Pis facing towards the cen-

tre. M is sitting to the imme-

diate left of P.

(4) Four persons— S, Q, Mand

R - are facing outstde.

89. {1) O1s facing towards the cen-
tre. R is fourth to the left or
right of O. )

100. (3} Except M, all others are (ac-
ing towards the centre.

%
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